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Cash at bank 2000]
541500| 5a1500]

Adjusimenls:
1) Stock on hand on 31.12.2020 Rs.1,00,000.
2) Create 5% reserve an debtors for bad debis.

) Prepaid Insurance amounls la Rs. 100,

4) Commission earned bul not received amounts ta
Rs.500.

5) Salaries are unpaid te the extent of Rs.1,500

) Depreciate fJumilure by 10% per annum.

- Following is tha Recelpts and Payments aic of Excell Well Sports Club for the year
ending 31s1 March 2020.

Racaipts Rs. Payments Rs.
To Balance bid 24,000 By Salary 36,000
To Entrance fees 5.000 By Upkaep of Ground 21.000
To Subscriptions 87,000 By Wages of Emplayees 24.000
To Conceris 15,000 By Ground Rent 1,500
Te Inlarest on investments 5,000 By Printing & Postage 2,000
By Repalrs 1,750
By Balance ¢/d 49,750
136,000 136,000

1. Subscriptions include Rs.5,000 for the last year

2. Interesl on Investment includes Rs.1.000 for the |ast year.
3. Upkeep of grounds Includes Rs.3,000 for the last yaar.

4. Wages of employees include Rs.1,500 for lhe |ast year.

Enlrance fees are lo be capitalized, Outstanding liabilities on 31.3.2020 are wages
Rs.2,000: Printing Rs.1,000; and interesi an investment Rs.1.200. Depreciate club
premises by 2%; furniture by 5% and spors equipment by 33 1/3%. Ledger
Balances at the beginning of the year:

Excess of Income over Expenditure Rs. 89000, Club premises Rs.3,00,000;
Investments Rs.1,00,000; Sports equipments Rs.24,500 and furnilure Rs 40.000.
Prepare income and expenditure A/c for the year ending 31st March, 2020 and
Balance Sheet as an Ihal dale.
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The adjustments to be made are:

1. Closing Stock on 31.12.2022 Rs.40,000.

2. Stock destroyed by fire was Rs.2,000 and the Insurance Company accepted the
claim partly for Rs.1,500.

3. Purchases include goods worth Rs.1,000 purchased for private purposes.

4. Bills receivable and cheques from debtors dishonoured Rs.2,000 and Rs.1,000

respectively but no entries are made in the books of account.

. The Romeo Cycle Ltd., Mumbai forwarded on 1st Jan, 2022, 200 bicycles to Juliet

Traders, Mysore to be sold on consignment basis. The cost of one bicycle was
Rs.300 but the Invoice price was Rs.400. The Romeo Cycles incurred Rs.2,000
towards Freight and Insurance. The Juliet Traders gave an acceptance for
Rs.20,000 in favour of the Romeo Cycles Ltd. The acceptance was for 3 months.
Two cycles were destroyed in transit and an amount of Rs.400 was received by the
consignor from the Insurance Co. The Juliet Traders had spent Rs.800 as Rent
and Rs.500 as Insurance, and had sold 160 bicycles at Rs.410 each cycle. The
consignee is entitled to a commission of 5% on sales including a Del credere
commission of 1%. The Juliet Traders were not able to recover sales proceeds of
10 bicycles because of insolvency of a debtor. The accounts are settled.

Prepare: Consignment Account and Consignee’s account in the books of the
consignor and Bad debts account in the books of the consignee.

From the following information given by a trader Mr. Rajkumar, you are required to
prepare a Trading and Profit and Loss Account for the year ended 31st March
2023 and a Balance Sheet as on that date:

Balance Sheet as at 1st April 2022

Rs. Rs.

Creditors 20000(Cash 5000
Bills Payable 40000|Bank 10000
Capital 100000|Bills Receivable 20000
Debtors 25000,

Stock 20000

Furniture 10000

Plant 70000

160000 160000
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Sales:

Date Quanlity“Unit Selling ;EhTolal cost
$ $
23 Aug X687 12.00 84,00
20 OcI X6 |10 12.25 122.50
30 Nov X615 12.50 187.50
24 Dac X6{18 13.00 234.00
50 628.00

Based upoen the available information, calculate the closing inventory valuation at
31 December 20X6 using:

1. the periodic welghled average cost

2. continuous weighted average cost.

. Parul Page prints and publishes sludy materials. Parul prepared the following trial
balance as at 30 June 20X7:
I:r :

Purchases 0,000
Inventory at 1 July 20X6 10,000

Sales 120,000
Distribution costs 13,200
iAdministrative and selling expenses 15,600

[Trade receivables 12,200
Irrecoverable debts 1,550

Bank balance 4,150
Capital account at 1 July 20X6 73,100
Discount recelved 2,500
6% Bank loan 10,000

Non-current assets at carrying amount|102.500

Capital introduced in the yeay 5,000
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| $ Cost drivers

Material ordering costs 220,000 Number of supplier orders

\General facility costs 824,000 Number of labour hours

The following additional data relate to each product:
Product W|Product X|Product Y|

Suppliers orders per line of products

120 180 100

Calculate the full cost per unit of each product, using ABC.

a.UU Company has been asked to quote for a special contract. The following
information about the material needed has been given:

Material X:

Replacement
Book value Scrap value

cost
$5.00 per kg $0.50 per kg $5.50 per kg

The contract requires 10 kgs of Material X. There are 250 kgs of this material in
inventory which was purchased in error over two years ago. If Material X is
modified, at a cost of

$2 per kg, it could then be used as a substitute for material Y which is in regular
use and currently costs $6 per kg.

What is the relevant cost of the materials for the special contract?

b. VWV Company has been asked to quote for a special contract. The
contract requires 100 hours of tabour. However, the labourers, who are each paid
$15 per hour, are working at full capacity.

There is a shortage of labour in the market. The labour required to undertake this
special contract would have to be taken from another contract, Z, which
currently utilises 500 hours of labour and generates $5,000 worth of contribution.
If the labour was taken from contract Z, then the whole of contract Z would have to
be delayed, and such delay would invoke a penalty fee of $1,000.

What is the relevant cost of the labour for the special contract?

The following figures are extracted from the accounts of Super Soups, a company
selling gourmet homemade soups.

20X9 20X8

$ $
Total production costs 6,538,000 5,082,000
Gross profit 3,006,000 |2,582,000




Operating profit 580,000 574,000
Total capital employed 6,011,000 |5,722,000
Calculate the Profitability Ratios.

Shuffles Co uses fork-lift trucks in its warehouses. The management accountant is
deciding which grade of trucks to buy based on the company's risk appetite. There
are three grades of truck, the A series, B series and the C series. The decision for
the truck is dependent on Shuffles Co’s growth in its online market which could be
at 15%, 30% or 40% for the next period.

The management accountant has correctly produced a pay-off table showing the
daily contribution earned for each of the outcomes.

Type of truck

Pay-off table A Cc
. B series ]
series series
15% $2,400 $1,800 $3,600
Growth rate  [30% $1,400 $1,900 $4,500
40%  |$4,900 $2,800 $3,900
a. If Shuffles Co adopt the minimax regret approach to decision-making, which
grade of truck will it purchase?

b. Based upon the scenario information, if the probabilities of the given growth
rates are 15%: 0.4, 30%: 0.25 and 40%: 0.35, and Shuffles Co is risk neutral,
which grade of truck will it purchase?

The Alpha Company operates an absorption costing system and sells three
products A, B and C. Each product line is managed by a divisional manager
(Manager A, Manager B and Manager C) who is only responsible for his/her line of
products. Sales budgets information on the three products is provided as follows:

Product [Sales units Standard profit per unit _[Budgeted profit
A 400 units ~ $8 [s3.200
B 600 units ~ $6 s3,600
c 1,000 units $4 Js4,000

Actual sales are achieved at the standard selling price, as follows:

Product Sales units Standard profit per unit  Budgeted profit

A 300 units $8 $2,400
B 700 units $6 $4,200
C 1,200 units $4 $4,800

Calculate is the sales quantity variance?






products for next year.

Product X  Product Y
Sales price $50 $60
Variable cost $30 $45
Contribution per unit $20 $15

Budgeted sales (in units) ) !IZ0,000 10,000

Calculate the weighted average Contribution to sales ratio.

12) An organisation has the following contribution function:
Contribution = 5X + 10Y where
X = the number of units of product X produced,
and Y = the number of units of product Y produced.
A graph has identified that the optimal production plan exists at the point where
the following two constraints cross:
Skilled labour: 6X + 4Y < 62,000 Unskilled labour: 2X + 5Y < 50,000
There is a maximum demand of 12,000 units of each product.

What is the number of units of Product X produced in order to maximise
contribution?

13) An organisation is considering launching a new product. It will do so if the
expected value of the total revenue is in excess of $7,000. . After some
investigation a number of probabilities for different levels of sales revenue are
predicted; these are shown in the following table:

ProbabilityjRevenue ($)
0.10 2,000

0.30 4,000

0.40 12,000

0.20 20,000

Will the company launch the new product?

14) AW Inc produces two products, A and C. In the last year (20X4) it produced 640
units of A and 350 units of C incurring costs of $672,000. Analysis of the costs has
shown that 75% of the total costs are variable. 60% of these variable costs vary in
line with the number of A produced and the remainder with the number of C.

The budget for the year 20X5 is now being prepared using an incremental
budgeting approach. The following additional information is available for 20X5:

1. All costs will be 4% higher than the average paid in 20X4.

2. Efficiency levels will remain unchanged.
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Cost driver data:
Sky Bar |Moon Egg {Sun Bar

ictual production/saies 500,000 {150,000 (250,000
units.
|Machine hours per unit 0.01 10.04 0.02
Number of production sel-

p 3 1 26
jups
Number of components 4 | 20
Number of customer orders 21 Id 25

sing ABC. calculate 1he full production cost per unit and the profit per unit for
each product.

A company manufactures Product RS. Each unit of RS sells for $100 Variable
costs are $60 per unit. Fixed cosls are $250,000. The company budgets to
produce 12,000 units in the next pariod

a. Scenario | (7 ¥ marks) — Calculate:

1. The break-aven polnt (expressed in units and $ of revenns),

2. The level of activity requlred to generate a profit of $90,000 (expressed in

units),

3. The margin of safety as a percentage.

Using graph paper, draw a profit-volume chart for scenario 1.

b.Scenario 11 (7 ¥ marks)- Using the graph drawn In (b}, illustrate and explain the
Impact of a change in salling price to $120 psr unit, on.

1. The break-even point {expressed in units and § of revenue)

2. The level of activity requirad to generate a profit of $90,000 {expressed in
units)

3. The margin of safely, expressed in units and in % terms.

a) You are given the following cost data:

Fixed costs $250,000.

Variable costs  $6 per unit up to 5,000 units. 10% discount on all units purchased
over 5,000 unils.

Derive equalions for the total cost funclion and calculats the total cosl incurred to
make 4,900 units. {3 marks)

bj An opportunity arises to increase sales by 10,000 units:

Selling price of additional unils = $10



« Variable cost of additional units = $6
« Fixed costs will increase by = $50,000

Should the opportunity be accepted? (2 marks)

c¢) The total fixed costs per annum for a company that makes one product are
$100,000, and a variable cost of $64 is incurred for each additional unit produced
and sold over a very large range of outputs. The current selling price for the
product is $160. At this price, 2,000 units are demanded per annum.

Itis estimated that for each successive increase in price of $5 annual demand will
be reduced by 50 units. Alternatively, for each $5 reduction in price, demand will
increase by 50 units.

Calculate the optimum output and price, assuming that if prices are set within
each $5 range there will be a proportionate change in demand also calculate the
maximum profit earned by the company at this level of output. (5 marks)

d) Find the linear relationship between price (P) and the quantity demanded (Q),
i.e. find the straight-line demand equation, in relation to the following sales and
demand data:Selling price of $200 = sales of 1,000 units per month.

Selling price of $220 = sales of 950 units per month.

Use this equation to predict the quantity demanded per month if the selling price is
$300. Using the price equation and assuming the variable cost per unit is $100,
calculate the optimum price, output and the maximum contribution. {5 marks)

Hilary Company (HC) provides skilled labour to the building trade. They have
recently been asked by a builder to bid for a kitchen fitting contract for a new
development of 600 identical apartments. HC has not worked for this builder
before. Cost information for the new contract is as follows:

Labour for the contract is available. HC expects that the first kitchen will take 24
man-hours to fit but thereafter the time taken will be subject to a 95% learning
rate. After 200 kitchens are fitted the learning rate will stop and the time taken for
the 200th kitchen will be the time taken for all the remaining kitchens. Labour
costs $15 per hour.

'Hours worked|Overhead cost §|
Month 1]9,300 115,000
Month 2]9,200 113,600
Month 39,400 116,000
Month 4]9,600 116,800

HC normally works around 120,000 labour hours in a year. HC uses the high low



meihod lo analyse overhsads.

The learning curve equalion is y = axb, where b = log rflog 2 = -0.074

a, Calculats hs total cost including all overheads for HC that il can use as 2 basis
of the bid for Ihe new apartment contract. (13 marks}

kIf the second Xitchen alene is expected to take 21.6 man-hours lo fit
demonstrate how the learning rale of 95% has been calculaled. (2 marks)
Ovaerheads are absorbed on a labour hour basis. HC has collecled overhead
Informalion for the 1asl four months and this is shown below-

Section B
Il. Answer any TWO questions {2x10= 20)

$. X Lid makes Ihree products, A, B and C, for which unit costs, machine hours and
selling prices are as follows:

Produci A ProguctB8  (Product C
Machine hours 10 2 14

$ i
Direct materialg

7 (14 ¥ 6 (12 ke 10k

50¢ per kg {14 %) (12 ko) 5 (10 kg)

Direct wages

9(1.2h : .4 h
@ $7.50 per hour { ours) (6 (0.6 hours) |3 (0.4 hours)
\ariable overheads |3 3 3
Marginal cost 19 15 11
Selling price 25 20 18
Contribution 6 5 1
Sales demand for the period s limited as follows
Product A 4,000
Product & 6,000
Product € 6,000

Company policy is to produce a minimum of 1,000 units of Product A.

The supply of materials in the period is unlimited, but machine hours are limited to
200,000 and direct labour hours 1o 5,000.

Indicate the production levels that should be adopted for the three products in
order to maximlss profilability.



6.

a Wednesday Chemicals has one product, which requires inpuls from three types
of material to produce batches of Synthon. Standard cost dalalls for a single bateh
are shown below:

Malerial typefStandard quanlityﬁSlandatd price per!
kgs) kg ($)

s1 [o.20

s2 5 o-s0

S3 3 Jo.40

A standard loss of 10% of input is expected. Actual oulput was 15,408 kgs for the
previous week. Details of lhe materlal used were:

Material gradeIQuantity (kgs)

S1 8.284
152 7.535
53 3.334

Calculate the individual material mix variance. ({5 marks)
b.W Ltd has budgeted sales of 6,500 units but actually sold only 6,000 units. Its
slandard cosl card Is as follows:

5
Direct material 25
Direct wages 3
Variable overhsad 4
Fixed overhead 18
(Total standard cost |55
Standard gross profit IS
Etandard selling price |60

The aclual selling price for the period was $61.

Calculate the sales price and sales valume varlance for the petiod:

a. Using absorplion cosling.

b. Using marginal costing. {5 marks)

a. Explain the problems of having non~ guantifiable cbjectives in Performance
Management.{5 marks)

b. Explain the problems of having mullipke objectives in Not for Profit
Organisations.{5 marks)
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Quantity demanded and supplied finunms )}
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Particulars Al9 B12 Tricycles  Bicycles

Beginning inventory, July 1, 20X8 3,500 1,200 800 2,150
Ending inventory, June 30, 20X9 2,000 1,800 1,000 900
Unit cost $1.20 $4.50 $54.50 $89.60
Projected fiscal year unit sales - - 96,000 130,000
Component usage:

Tricycles 2/unit 1/unit - -
Bicycles 2/unit 4/unit - -

1f the economic order quantity of component B12 is 70,000 units, the number of times that
Wellfleet Company should purchase this component during the fiscal year ended June 30,
20X9 is .

. A company has budgeted sales for the upcoming quarter as follows:
Particulars January February March
Units 15,000 18,000 16,500

The ending finished goods inventory for each month equals 50% of the next month's
budgeted sales. Additionaily, 3 pounds of raw materials are required for each finished unit
produced. The ending raw materials inventory for each month equals 200% of the next
month's production requirements. If the raw materials cost $4.00 per pound and must be paid
for in the month purchased, the budgeted raw materials purchases for January are

. Berol Company plans to sell 200,000 units of finished product in July and anticipates a

growth rate in sales of 5% per month. The desired monthly ending inventory in units of
finished product is 80% of the next month's estimated sales. There are 150,000 finished units
in inventory on June 30. Each unit of finished product requires 4 pounds of direct materials
at a cost of $1.20 per pound. There are 800,000 pounds of direct materials in inventory on
June 30. Berol Company's production requirement in units of finished product for the 3
month period ending September 30 is .

. Monroe Products is preparing a cash forecast based on the following information.

= Monthly sales: December $200,000; January $200,000; February $350,000; March
$400,000.

= All sales are on credit and collected the month following the sale.

+ Purchases are 60% of next month's sales and are paid for in the month of purchase.

= Other monthly expenses are $25,000, including $5,000 of depreciation.

If the January beginning cash balance is $30,000, and Monroe is required to maintain a

minimum cash balance of $10,000, how much short-term borrowing will be required at the

end of February?

A company makes one product that it sells for €125 per unit. The product has a contribution
margin of 35% of sales. Direct materials account for 10% of sales. Variable manufacturing
overhead is 5% of sales. Fixed costs are €200,000 per year. The controller wants to create a
pro forma income statement where the sales increase from 10,000 units to 12,000 units. The
average income tax rate is 25.71%. What is the change in operating income as a result of the
increase in unit sales?

. A company has $10,000 in cash and $150,000 in merchandise inventory on March 31. The

desired cash and merchandise inventory balances on June 30 are $20,000 and $250,000,

















B.Com
















h) Products that are identified in the BCG Growth-Share Matrix as Cash Cows possess
relatively
A. high market share in a high growth market.
B. low market share in a high growth market.
C. high market share in a low growth market.
D. low market share in a low growth market.

i) A segment of an organization is referred to as a profit center if it has
A. Authority to make decisions over the most significant costs of operations including
the power to choose the sources of supply.
B. Authority to make decisions affecting the major determinants of profit including
the power to choose its markets and sources of supply.
C. Authority to provide specialized support to other units within the organization.
D. Authority to make decisions affecting the major determinants of profit including
the power to choose its markets and sources of supply and significant control over the
amount of invested capital.

j) A segment of an organization is referred to as a service center if it has
A. authority to provide specialized support to other units within the organization.
B. responsibility for developing markets and selling the output of the organization.
C. authority to make decisions affecting the major determi of profit including the
power to choose its markets and sources of supply.
D. responsibility for combining the raw materials, direct labor, and other factors of
production into a final output.

a) A segment of an organization is referred to as a service center if it has
A.responsibility for developing markets and selling the output of the organization.
B.responsibility for combining the raw materials, direct labor, and other factors of
production into a final output.
C.authority to make decisions affecting the major determinants of profit including the
power to choose its markets and sources of supply.
D.authority to provide specialized support to other units within the organization.

b) A component part is manufactured in one country and transferred to the company’s
production facilities in a second country for completion. The exporting country’s
effective income tax rate is 30% while the importing country’s effective income tax
rate is 25%. The transfer price should be
A the highest allowable amount to minimize income taxes.

B.the lowest allowable amount to minimize income taxes.
C.negotiated between the two divisions to allow participative management.
D.fairly set to evenly divide profits between the two divisions.

c) Morrison's Plastics Division, a profit center, sells its products to external customers as
well as to other internal profit centers. Which one of the following circumstances
would justify the Plastics Division selling a product internally to another profit center
at a price that is below the market-based transfer price?

A.The buying unit has excess capacity

B.The selling unit is operating at full capacity.

C.Routine sales commissions and collection costs would be avoided.

D.The profit centers' managers are evaluated on the basis of unit operating income









b)

C,

Arrow Industries employs a standard cost system in which direct materials inventory
is carried at standard cost. Arrow has established the following standards for the
prime costs of one unit of product.

Particulars Standard Quantity Standard Price Standard Cost
Direct materials 8 pounds $1.80 per pound $14.40
Direct labor 0.25 hours $8.00 per hour 2.00

$16.40

During November, Arrow purchased 160,000 pounds of direct materials at a total cost
of $304,000. The total factory wages for November were $42,000, 90% of which
were for direct labor. Arrow manufactured 19,000 units of product during November
using 142,500 pounds of direct materials and 5,000 direct labor hours. The direct
materials purchase price variance for November is

A company established its annual direct material budget to produce 300,000 units as
follows. 150,000 pounds of material @ $0.75 per pound = $112,500. Throughout the
year, the company produced 310,000 units of finished goods using 0.48 pounds per
unit at a cost of $0.76 per pound. The direct material efficiency varance is

a) ChemKing uses a standard costing system in the manufacture of its single product. The
35,000 units of raw material in inventory were purchased for $105,000, and two units of
raw material are required to produce one unit of final product. In November, the company
produced 12,000 units of product. The standard cost for material allowed for the output
was $60,000, and there was an unfavorable quanmy variance of $2,500. ChemKing's
standard price for one unit of material is

b)

<)

The controller for Durham Skates is reviewing the production cost report for July. An
analysis of direct materials costs reflects an unfavorable flexible budget variance of
$25. The plant manager believes this is excellent performance on a flexible budget for
5,000 units of direct materials. However, the production supervisor is not pleased with
this result because he claims to have saved $1,200 in materials cost on actual
production using 4,900 units of direct materials. The standard materials cost is $12
per unit. Actual materals used for the month amounted to $60,025. The actual
average cost per unit for materials was

A company makes one product that it sells for €125 per unit. The product has a
contribution margin of 35% of sales. Direct materials account for 10% of sales.
Variable manufacturing overhead is 5% of sales. Fixed costs are €200,000 per year.
The controller wants to create a pro forma income statement where the sales increase
from 10,000 units to 12,000 units. The average income tax rate is 25.71%. What is the
change in operating income as a result of the increase in unit sales?
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